7/ Y

/e el pihs kbt /W)
/‘”44 = 0ns Ty Vas) adiaicd -4 250
L,;, - Vi l,., =o
or 4 2 weereno e ﬂwé’W :
J =227 4w

AT e
G e e

/’ ///,‘2 a Ta
e —‘>/:;1f;—¢//—f£

Xj T_/e/f bifel =2 WAl nE
R s T o
Y

:5 e T
/ b
/{W//,- 7
) e i
2y
¢ 3
e e a4 "
3054 = + O+ D
Wi(s) = bofb) =0 =2 £20 P =0

dei s i R %
o

|

| 2 2 215 _ j
Iy = {8 4 3 e
e et L g el



o z/j 7
ﬁa - /1242/7/,\%{) ek « &
“4(x,Y 9 o
b /z/ o) = /‘K//”"‘)/”'f/

J —
7//0 X 2 hé,c ,”/»6

I b=ty 770

e /A
e ey
Ao = - Al

I w-7.24) v4)

X”yw(y = ANV =n

!

\
l
!

£
I

2/

pcj(;h— '-/b"
/j = Coril » p

T”+%7/’72 o

T= Csingid) « oosparrd)

li= gﬁﬁz S1hhX. S7h %'@g‘hﬁ@ {) o

-+ ,@49{/4@~[))

////xjp/* L D, =2

b

= ;éty()

l/h"

{ h/k\yaj 541/7VLX 5’/1/1/7 fm, 4//{/@1,/

= x/ﬁk‘
m;‘/ )fj)

a
5%1/_: ,,2 // ,d/\:y/r -x)( % /)57/7/14/ 5’7@?4
|- £ /W,x/ At //ﬂa A sinkydy

fx/, x).sthnx ol = x(5-x) (- W)/
| -/ﬁw«)/

”’754 (7 M)/Wﬂy/

f "//1) %MUX =D+ "@j‘x / e

)_(_4. /,X—mi +A =0

\\y //\Z

e

)(H'ﬂ:ﬁ)(fo

X(o)=0 , X (=0

X=/ §7hfk) /”M/K/AX)
Yo) = = |
X(7) = /j;;m@h’):-o
Wﬁ:ﬁn /76//1/0%
J(,(c/aﬂ“/ fa=of 2
Vg Ve

Yb) =0 : V(4 =e
o= sinky Vet

Xo = Snnx, =

/:ézf’h/&

:>fw‘/;:/ A - //)) //’/;’)7

@;ywwwwhhéww

%?W

s )

2 2 M//fu A



po 47 1Y) Ly
Y. o o= e

L el i T y o i / 2 =

A Lyey i< ﬂk%f) 5//@,,,@/)5 v A - @k4—4) +£ZM#/]

o b 9

bt L, . : — - St/ P . Sah/2lesi)y,
—/;gf }7_;///'[1*/} 5»/31%+ /)’?ﬁ /ékwfé/){k/*——wi / f/)f 7 / )d”
|+ n (o | K1) e (oo 4 )" <) Lol




~ L /3 7 4/

Nt = 8,0 + 57(h'zf§/}7X~ Siny VENLG 0 <yid i s
iy 9=ty kg o) =0
Hoea =W, = Wil o

4

W= Vs s/z‘mx&iréy,hw‘

M‘f e Ba S st = — L 97X 53 Y Sivl+ LoV + $h x Sy $int

Vﬂ;j p/ D=
v, / - G Sy a:'g{/: 0
-
4 =0

V/Xm 5 ”J/v?o :l//jfﬁ =

Vip = 4, V

V/'K(j/ 0)=0

ik y o)< - sinx 504

V/X:o - V/)(:g - l//ff(): Vé‘ﬁ =0
4 / porepLpd Wae = Spx. $iu /2(7 Me =n % b ”/M
b « 3
e fﬁ/ﬁﬁ%#ﬂ%@fﬁg) ¢ // “

T T, S g 9’ /%5,# et Dot 8 g ’{)

V/X/j i o Pee =0

Vo lky o) =
SLL Y Bl = g \ - e
y %//py.sﬂhx »M,j/ S1hx g,m/ff_@ @
gy FF
: '///// ‘C{/"// e e / E !
/'/’/ s> o
Cue =0 - OCFEAG ibr : a

Ve g siny (- &Lj, gt

{
=>1
i

=% nx 37/4/3414[ —SiuX g;hj :Sj_”f_:/’zé

A



